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Vocab Questions Overview

Vocab Questions have a good weightage in the Banking Exam and the type of question asked in Banking exam is similar
to the question mentioned below. It has been solved and explained by Gargi.ai Experts and they have tried to elaborate
the concept used in Vocab Questions.

Question

A word has been given in the following question. In response to the highlighted word, sentences have been provided in the
options below. Find the appropriate statement representing the given word. Instead

Difficulty : Moder ate Average Time: 32 Seconds

Options :
1. You did this instead, didn't you?

2. Instead of shifting with each step, the ground felt solid.
3. This looks like an instead spot for a picnic.
4. He'll very instead be late.

5. They regard him as an instead candidate for the job.

Solution

The correct answer is Option 2, i.e. Instead of shifting with each step, the ground felt solid.
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The question is to find
out the correct
statement representing
the given vocab.

The word "Instead"
means as a
substitute or
replacement; in the
place or stead of
someone or
something.

Among the given
statements, Option 2
seems to portray the
exact denotation of
the provided word.

Hence, the correct
answer will be option
2, i.e."Instead of
shifting with each
step, the ground felt
solid."

.

+91 90449 32444

www.gargi.ai

A SATISFACTORY SOLUTION OF ALL EXAM PREPARATION

Page No: 2

]

connect@gargi.ai

RAILWAY | SSC | STATE EXAMS



https://www.gargi.ai/question-answer/a-word-has-been-given-in-the-vocab-questions-for-banking-58450
https://www.gargi.ai/

